ADJUSTABLE ROLLER CARRIER

ATTACHED W/ (@ 1/74° x 1/2* 14GA. DURASAFE

- BOLT & NUT PER BRACKET CENTER HINGE ATTACHED 3 GA. FLAG BRACKET ATTACHED TO wDOD
W/ (4) 1747 x 3/4° JAMB
(] HEX HEAD SCREWS W/ (3> 5/16 DIA. X 1-5/8’ LAG BOLTS AND TO
= 2* THICK ——= o 2 GA COMMERCIAL TRACK W/ (4> 1/4°-20 x 5/8 TRACK SPLICE
TOP FIXTURE ATTACHED W/ BOLTS AND NUTS
3 5/8* 22GA. R-TRUSS ATTACHED (4> 1/4' x 5/8° HEX HEAD SCREWS
y . R ADJUSTABLE SLIDE BRACKET ATTACHED
12 GTA' GA'BV~ ES"%:CIAL W/ @) 1747 x 3/47 W/(2) 1/4° x 1/2° BOLT AND NUTS
DP ROLL CKET HEX HEAD SCREWS AT MIN EXT] KIN
ATTACHED W/(4> 1/4° x EACH CENTER STILE w /,f:KEG[f\'ON PSLYEE;*}EQ ?,N',SH
3/4* HEX HEAD SCREWS 2 10 BALL STEEL
PER BRACKET .
S* MIN STEM ROLLER SPLICE TR/ACKS AT THIS LOCATION
W/ (4) 1/4™-20 TRACK SPLICE BOLTS & NUTS
TYPICAL TOP FIXTURES 1 SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8"
N.T.S. LAG BOLTS
SEE (TABLE 2> DN PAGE 3 FOR ) (SPLICE)
RECOMMENDED SECTION CONFIGURATION A TYPICAL DURASAFE CENTER HINGE P (1) 5/16" DIA. x 1-5/8"
[ N.TS. ; : LAG BOLT ATTACHED TO JAMB
z ] B AT EA. JAMB BRACKET
RO RO . G r e, LI NN CXC—) RN 1) R_TRUSS
1 = m—— : PER SECTION
7 (A 7 7 1l 7 13 : 12 GA. GALV. STEEL
= | e | P J BN |3 ‘l’/ G JAMB BRACK;T?) /
3| 3| »,
. : B (THROUGH) ATTACHED W/ (1) 1/4"-20
TOP) 1 N TRACK SPLICE BOLT & NUT
STILE STIFFENERS (3) :
F ; [ [ LOCATED IN HINGE HOLE(S) e
1o 1 1 ’ ON TOP SECTION ONLY 'l F ;
H H H k. D :
K K THROUGH HOLES FOR STRUT END_HINGE
H ATTACHMENT (IF STRUT B 14 GA. E
- IS REQIURED) 5
; % e
: d ¢ B |
Al
] LSEE (TABLE 3) ON PAGE 3
i ! y i ] ) FOR JAMB BRACKET SPACING
- et 5 7 TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS
: : : A 3 5/8°H X 22 GA. (3 5/8*
STILE TYPICAL STILE STIFFENER R-TRUSS) GALV. STEEL R-TRUSS
LOCATION™ e £ NTS 5 A ATTACHED W/ (4> 1/4° x 5/8°
SEE TABLE 4 ON PAGE 3 SEE (TABLE 1) ON PAGE 3 .T.S. T HEX HEAD SCREWS AT EACH END
FOR STILE PLACEMENT FOR STRUT SPACING STILE AND (@ 1/4” x 5/8° HEX
e HEAD SCREWS AT EACH CENTER
=07 MAX 1 STILE
INSIDE ELEVATION
N.T.S.
ADJUSTABLE SLIDE BRACKET 14 GA. DURASAFE 1 STRUT AT
ATTACHED W/(@) 1/4-20 x END HINGE ATTACHED BOTTOM PANEL
5/8° TRACK BOLTS AND NUT W/ (@) 1/4° x 3/4°

HEX HEAD SCREWS 27 20GA. STRUT

ATTACHED W/
(@ 1/4* X 3/4°

CONT. STEEL RETAINER

14 GA DURASAFE AJUSTABLE W/ BOTTOM SEAL

ROLLER CARRIERS ATTACHED TO

. - 4GA. DURASAFE
1d X o R D SR ROLLER CARRIERS ATTACHED ATEND AND CENTER FEV | DESGRPTON OF REVSINS ME B
HEX HEAD SCREWS PER CARRIER SMES & SECTION A—A_ (SIDE_VIEW)
0 N.T.S.
MAX SIZE _ e
> ILUI:INBGA LSLTESMTEREDLLLER ° 2° 9 x 14’ 58 . £3
3 5/8" 220A, o DESIGN LOADS| & & -~ OF T ™ ~£g
ATTACHEDRJE'J&S) SLIDE LOCK ENGAGES INTO VERTICAL g. +51.1 PSF &E = E""‘.' E* -'
Va8 e 2 10 BaLL STEEL ' To—C
HEAD SCREWS BAR OPTIONAL) ATTACH W/(@> 1/4° x S* MIN STEM ROLLER W/ 174" X 3/4° Eg Y, ge
3/4* HEX HEAD SCREWS alx Zg
HEX HEAD SCREWS ARGE MISSLE < 3 z;
o= [o]
g5 5 g
TYPICAL BOTTOM BRACKET B 82
TYPICAL DURASAFE END HINGE (3 N.TS. @ | M P A C T R E Sl S TAN T £s o 7 3=
NTS. LARGE MISSLE| 22 W\ g, o &7 2F
SO MOULDING 20 GA, GALV, STEEL END STILE SeRew D PeR TC RElglg'?Er:erE 42 WK cE s“Q,Q = 5
3 3/4° MIN, W/ FLEXIBLE SEAL : : ) ST oS VS8 > el
"‘I SIDEROOM [— (SUPPLIED BY INSTALLER) ATTACHED WITH 72 (G tas JAMB BRACKET §§ v \le\p:\..i ?ngj
(3> 20 GA. CENTER STILES TOG-L-LOC AT THE TOP AND ,-S:,‘;’ _gm
TOG-L-Lr TACHED WITH (2 ) 7/16" oo VM RALL THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE X =8
BOTTON RAIL ND ADHESIVE \ B0LT RETANER WITH THE PROCEDURE DESCRIBED IN ASTM E330, E1886, E1996
/ | F588 AND DASMA 108, 115. THE PRESSURES SHOWN ON THE arr
{ DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWWV.AMARR.COM
END ZONE, ROOF AT ANY SLOPE, AND I=1.0): MODEL 950 HERITAGE (24 GA) 1000, 2000
- MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
. . WIND SPEED (MPH 180 163 155 148 142 SHORT, LONG, FLUSH, AND OAK SUMMIT PANELS
S/BI’-I X 22 GA. 2" GALV. STEEL TRACK”
W 1/4-20 x 5/8'TRACK 3 9787 RTTRUSS TRACK THICKNESS .083 EXPOSURE LEVEL B C C D D SZE| DRAWNBY RR| DAE 03/12/13 DRAMNG NUMBER
S gk D NUT PER O VeGP oR arr MEAN ROOF HEIGHT 300 | 15 | 25 | 15 25 B oromer | oo IRC-9509-180-21~6
JAMB B
TRACK _MOUNTING DETAIL  (No. 2 0r BETTER) pp——
N.T.S.




SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,

FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+230.0 LBS/FT & —271.4 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. (.0216) MIN. EXTERIOR SKIN
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH

5. DOORS UPTO 7'0” HIGH CONSIST OF (4) SECTIONS AS SHOWN.

USE (1) 3 5/8" R—TRUSS PER SECTION

6. DOORS OVER (4) SECTIONS REFER TO TABLES 1 AND 2

ON PAGE 3

7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

DOOR HEIGHT
VERTICAL LIFT
STANDARD UFT
LOW HEADROOM

HIGH UFT
o

__JJ _ﬁj l ;J

AVAILABLE TRACK CONFIGURATIONS
N.T.S.

INTERIOR OF GARAGE

— MAX. WIDTH 9’0" [—

pesiGN LoD [{ | [ J [} [ 1 [ 1]

+230.0 LBS/FT
=271.4 LBS/FT

PTIONA
N.T.S,

SEE NOTE 2

PANEL GLAZED S

B

DNe s o --/II-'BI\--
o

i

A=A

; l
; J—

7]

INTERMEDIATE SECTION

WOOD JAMB ATTACHMENT TO STRUCTURE

033’ GALV STEEL INTERIOR IMPACT WINDOW FRAME

0337 GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5” BITE ON GLASS

DECORATIVE PLASTIC INJECTION 24 GA STEEL DOOR SKIN
MOLDED EXTERIOR WINDOW FRAME

S5/16" ANNEALED LAMINATED GLASS
/’wm-x .080 PVB INTERLAYER

STRUCTURAL ADHESIVE

2.3/16" X 1/2* SCREW - USED TO
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3.11/64* X 1/2* SCREW — USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL

N.T.S.

IMPACT GLAZING FASTENER DETAIL
N.T.S.

GLAZING MEETS ASTM E1300-04

REV | DESCRIPTION OF REVISIONS DAE  |BY
2 X 6 VERTICAL JAMB ATTACHMEN 0.w00OD FRAME STRUCTURE
5/16° X 3" LAG SCREWS STARTING 6 FROM ENDS THEN 20 O.C. (1 172’ EMBEDMENT)
X 6 VERTICAL JAMB ATTACHMENT TO 2 PSI CONCRETE
HILTI KWIK BOLT 3/8 X 4° STARTING 6’ FROM ENDS THEN 24° OC. (2 1/2* EMBEDMENT) MAX SIZE — g3
HILTI SLEEVE ANCHOR 3/8° X 2-3/4’ STARTING 6’ FROM ENDS THEN 18° O.C. <1 1/4” EMBEDMENT) 9 x 14 T £X
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4° STARTING 6’ FROM ENDS THEN 24" O.C. (2 1/2° EMBEDMENT> L PSRN g
2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK DESIGN LOADS &3 S~ <eOF Tz 52
SIMPSON 1/4” X 37 TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS +51.1 PSF | 54 A AR Gh
(3" APART) AT 8” O.C. (1 1/2’ EMBEDMENT) —60.3 PSF | Z¢ o o c3
HILTI 1/4* X 2-3/4” KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF Es Fx g2
FASTENERS (3 APART) AT 8 O.C. d 1/4" EMBEDMENTY Bx  Jx i/ g 28
s Peeseideadiccsiciicnnscansd k=X0]
X _6 VERTICA TTACHMENT T T - 1) :s;E / ASL SHELMERDINEf g
HILTI SLEEVE ANCHDR 3/8° X 2-3/4" STARTING 6° FROM ENDS THEN 22° OC. A4 1/4* Sv § isferereinearserrosscsansaened O3
EMBEDMENTY (OR, USE FASTENERS FOR HOLLOW C-S0 BLOCK) Es O 85829 Fo ; 2=
LARGE MISSLE| £3 "% opns® S 25
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. IMPACT 52 { A‘é\' C_'.ENS. \\\ a4 Sz
*PREPARATION DF wOOD JAMBS BY OTHERS RESISTANCE ég \\ SSIONA\,E“ - gg
TS \ \ \ \ S5 ASve ?/‘»‘_‘?‘
CONCRETE HOLLOW BLOCK GROUTED BLOCK =] 8N
% STRUCTURE STRUCTURE STRUCTURE STRUCTURE TX 53
z | I
Led
& I \ 1 \ i \
—J - 7 J J
o I——————I 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
1/2* MIN 2-3/4* MIN 1-1/2* |MIN 4 MODEL 950 HERITAGE (24 GA) 1000, 2000
%g JAMB MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
' 3° MIN SHORT, LONG, FLUSH, AND OAK SUMMIT PANELS

DRAWING NUMBER
IRC-9509-180~21-6

SHEET 2 OF 3

SZE| DRAWNBY  RR| DA 03/12/13
B | cHcken By DATE




TABLE 1

DOOR
HEIGHT

STRUT SPACING (BASED ON RECOMMENDED

SECTION CONFIGURATION)

TOP

TABLE 2

DOOR
HEIGHT

SECTION HEIGHTS

TABLE 3
DOOR TRACK ATTACHMENT SPLICE
HEIGHT|A| B | C| D | E | F | G| H I J| K] L]|M|N S

14" | 27" | 38" | 46" | 56" | 68"

14" | 27" | 38" | 46" | 56" | 68"

14" | 27" | 38" | 46" | 56" | 68"

78"

78"

78"

88"

88"

88"

100" (110"

100" [{114"

100" (114"

122"

134"

134"

146

ALL TRACK ATTACHMENT SPACING +/— 2" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY

TABLE 4
Section Center Stile Location
| panel Type (Measured from Left Edge)
Width 1st 2st 3rd
(t) (in) (in) (in)

24.000

48.000

72.000

25.000

50.000

75.000

25.625

50.000

74.375

Long 25.500 51.000 76.500
Bead 26.125 51.000 75.875
Long 26.000 52.000 78.000
Bead 26.625 52.000 77.375

DESIGN LOADS;
+51.1 PSF
-60.3 PSF

LARGE MISSLE
IMPACT
RESISTANCE

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA {TX Firm #F-004063)

REV | DESCRIPTION OF REVSIONS DAE  [BY
MAX SIZE 68
9" x 14 =

dba Structural Solutions of North Caroljnd,
5921-G W. Friendly Ave., Greensboro, N¥

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL 950 HERITAGE (24 GA) 1000, 2000
MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
SHORT, LONG, FLUSH, AND OAK SUMMIT PANELS

SIZE

DRAWN BY

RR

DATE 03/12/13

CHECKED BY

DATE

IRC-9509-180-21-6

DRAWNG NUMBER

SHEET 3 OF 3




